Std. Mean Difference Std. Mean Difference

Study or Subgroup Std. Mean Difference  SE Weight 1V, Random, 95% CI IV, Random, 95% CI

6.7.1 A

Asghari V 1994 0.63 0.81 7.7% 0.63 [-0.96, 2.22] I

Asghari V 1995 0.37 0.59 12.3% 0.37 [-0.79, 1.53] -

Kazmi MA 2000 1.06 0.94 6.0% 1.06 [-0.78, 2.90] -1 -
Oldenhof J 1998 3.86 0.75 8.7% 3.86 [2.39, 5.33] - -
Sanyal S & Van Tol HHM 1997 221 1.25 3.6% 2.21[-0.24, 4.66] T -
Watts VJ 1999 058 0.6 12.0% 0.58 [-0.60, 1.76] T

Subtotal (95% CI) 50.3% 1.38 [0.24, 2.52] -

Heterogeneity: Tau? = 1.38; Chi? = 16.79, df =5 (P = 0.005); I = 70%
Test for overall effect: Z = 2.37 (P = 0.02)

6.7.2B

Czermak C 2006 0.99 1 5.4% 0.99 [-0.97, 2.95] -1 -
Van Craenenbroeck K 2011 0.87 1.33 3.2% 0.87 [-1.74, 3.48]

Subtotal (95% CI) 8.6% 0.95 [-0.62, 2.51] ~al—

Heterogeneity: Tau? = 0.00; Chi2=0.01, df =1 (P = 0.94); 12 = 0%
Test for overall effect: Z=1.18 (P = 0.24)

6.7.3C

Borroto-Escuela DO 2011 2.22 2 1.5% 2.22[-1.70, 6.14]

Sanchez-Soto M 2016 0.88 0.67 10.3% 0.88 [-0.43, 2.19] T
Sanchez-Soto M 2018 1.85 2 1.5% 1.85[-2.07, 5.77]

Van Craenenbroeck K 2011 218 1.67 2.1% 2.18 [-1.09, 5.45]

Subtotal (95% CI) 15.4% 1.22 [0.10, 2.33] .

Heterogeneity: Tau? = 0.00; Chi*=0.94, df = 3 (P = 0.82); I? = 0%
Test for overall effect: Z =2.14 (P = 0.03)

6.7.4D

Sanyal S & Van Tol HHM 1997 149 15  2.6% 1.49 [-1.45, 4.43)

Schoots O & Van Tol HHM 2003 112 075  8.7% 1.12 [-0.35, 2.59] T
Subtotal (95% CI) 11.3% 1.19 [-0.12, 2.51] >

Heterogeneity: Tau? = 0.00; Chi2 = 0.05, df =1 (P = 0.83); I? = 0%
Test for overall effect: Z=1.78 (P = 0.08)

6.7.5E

Gonzalez S 2012 1.05 1 5.4% 1.05[-0.91, 3.01] -1 -
Van Craenenbroeck K 2005 0.98 0.73 9.0% 0.98 [-0.45, 2.41] T
Subtotal (95% CI) 14.4% 1.00 [-0.15, 2.16] 1

Heterogeneity: Tau? = 0.00; Chi? = 0.00, df =1 (P = 0.95); I?=0%
Test for overall effect: Z=1.70 (P = 0.09)

Total (95% CI) 100.0% 1.20 [0.71, 1.69] <&

Heterogeneity: Tau? = 0.16; Chi? = 17.98, df = 15 (P = 0.26); I? = 17% M) _’2 0 5 2
Test for overall effect: Z = 4.81 (P < 0.00001) Favours [7R] Favours [4R]

Test for subaroup differences: Chi2 = 0.30, df =4 (P =0.99). I2 = 0%
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